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20228 = 20la HEAFHIAXZAILSE S A

200 Mlel=¢
210 A HA2A 4=

216 Ol Xt==¢

09 1§ 024

[z

AbE 8 A A

T8 0l &k o4 1A & 0l v BlmE2

z 918,250 2,321,011|  A1,402,761

200 Hlol4l 6,000 6,000 0

210 BAE A2l 6,000 6,000 0

216 0| K42l 6,000 6,000 0

216-02 X331 40 K4l 6,000 6,000 0

<BMOUUKI D > 6,000 6,000 0
ORIAE X234 0l Xt4el 6,000,00021 %14} 6,000

500 BX3 355,900 352,500 3,400

510 2L XIS 355,900 352,500 3,400

511 2L XS 355,900 352,500 3,400

511-03 013 355,900 352,500 3,400

< ARG D > 355,900 352,500 3,400

OLHAFHIIY I 2NAS(HAAI|EIID)

355,900,000 *14] 355,900

700 BEAUSUAYEHY 556,350 1,062,511  A1,408,161

710 BHAYUS 542,607 1,062,511  ~1,419,814

711 20I3 467,697 1,887,511  ~1,419,814

711-01 =AIAL 02 467,697 1,887,511  ~1,419,814

<BMOUUKI D > 467,697 1,887,511 1,419,814
O=AIHLCIZ 467,697 00021 14! 467,697

713 8X28 34 75,000 75,000 0

713-01 QI BB & 442! 75,000 75,000 0

< ARG D > 75,000 75,000 0
OFASNOILRA) SN2 342 75,000,000 14! 75,000

720 =42 13,653 0 13,653

722 Gl 2L+ 13,653 0 13,653

722-04 GIIE20I Rt 42! 13,653 0 13,653

< ARG D > 13,653 0 13,653
OSEHHAHEIIS 2 0K+ 13,653,000 *14] 13,653
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A ZHROIH X 2

HE: A FHIY |

Cel: GNMAFHISE XJ(LELAFHIGSXJAMSSESIA) (el &3
= = — X L=
SA SR (S) - MRAY - BAS il &t i RS2
401 A& HI YL 20HHI 1,000 0 1,000
| 1,000
01 A&l 1,000 0 1,000
OZTAFHIY IS A
1,000, 000 =14 1,000
| 1,000
Glulg(E&ASEFIH) 6,350 12,511 A6, 161
801 Gl bIH] 6,350 12,511 26,161
01 Btoilbl gl 6,350 12,511 A6, 161
oollgltl 6,350,000 =14 6,350
el 3,000 3,000 0
802 Btz | EF 3,000 3,000 0
01 =2EXS3EEZ 3,000 3,000 0
O=18x2 0lA gt 3,000,000& 14! 3,000
LEAFHX G| 2K AL (EHLZ-2 30U X) 14,000 14,000 0
| 14,000
401 Al HI L2 0HHI 14,000 0 14,000
| 14,000
01 Al&HI 14,000 0 14,000
OZTAFHIA IS A
14,000,000& * 14 14,000
| 14,000

—-/83-






